Biological ankle \>/

)

Estimated biological

I
~

Estimated biological

o45| fit=-18xW _ -0.26

neg

= p: 6.68e-06" R% 0.9 B)
> §
= et
§-025 T
¥
5
2 o3
<

p rep. measures: **

0 -0.01 -0.02 -0.03 -0.04
Negative exosuit bilateral ankle negative work rate (W kg'')

D)

-0.35

K]

=

5

©

X

£

H

b ﬁl=-1.2XWMg+0.2
[-% 0.15 . o 2.

= p: 0.00737** R%: 0.93

0 -0.01 -0.02 -0.03 -0.04
Negative exosuit bilateral ankle negative work rate (W kg'")

rep. measures: **

"9 025

= Pow.-Off

B

g 02 L -
= - -
<] T |
3015 \Lﬂ; tel e
] I

2

£

0.1

0 -0.01 -0.02 -0.03 -0.04
Negative exosuit bilateral ankle negative work rate (W kg'")

Estimated biological

Biological ankle
A2 work rate (W . kg™")

fit .6XxW _+0.58
neg

p: 8.58e-06"* R% 0.81

o
o

S
a
&

S
IS

p rep. measures: **

0 001 -002 -0.03 -0.04
Negative exosit bilateral ankle negative work rate (W kg™")

fit=-12xW__-0.13
neg

B} p:3.94e-05" R% 0.95 __
. <01 T
B [ Pow-Off [ &
2 -f
g L]

E 015t

=

M

b

o

B

S
N

p rep. measures: **

0 -0.01 -0.02 -0.03 -0.04
Negative exosuit bilateral ankle negative work rate (W kg'')



	Slide Number 1

